DO NOW

Use the given information to write a function in
the form f'(x) = mx + b:
m=-2 and f(-2) = 8

Y_Y) = W“(X‘XD

y-8=-2 (x-2)

y-f =2y -4
\/ :—ZX~L4 1'8
N=-2x+
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Find the domain and range of each relation. Also determine
whether the relation is a function.
Ex: 1. {(1,4),(2,5),(3,6),(4,7)}
domain: $1,2,3,4%
range: $4,5,6,1%
Lunction #n0 repethion of %-values
2. {(3,1),(5,4),(3,6),(8,9)}
domalh 2 ?3,5,8§
range Z1,4,6,92
not o funchon  #* There are 2 X-values of 3

3 3 Words Number

of Letters

N _‘ domain'§ caf, dog,to, of Si\re&ﬁ
b L.® | fonge§2,3 53
e o0y Function

Of —+# =2

Given 1
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3.6 The Algebra of Functions

Operations on functions:
T+ is pass;ble + per‘grm e fHur
besic operations (+,~,x,%)
on funchons

Sum: ?+% = P(X)+g(%)
difference: £~ g = £60 —5(90
product : ?% = Py - 8@0

USTent : £ :'F('X>
Qstient: b
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3.5 Functions - (continued)

function notation - 7‘160 < “{1 of "
(X) = ”5 of x"
+ Allows +he use of muktple equations
function - pairs each element of +he DOMAIN
with one and only one element of +he RANGE

*Np +wo ordered pairs have He
Same x-Value

When listing domain and range:
— put numbers in order
—do net repeoct numbers
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Vertical Line Test - If no vertical line Can be drawn $hat
intersects +he graph more Hhan once (ot the same ins+an+)

then the graph is a function.
4. Which of the following graphs are of functions?

>

a. function  * y >

b. fanction }

not a
C- funchon

d. funck % ,““, - ‘
ol e 13

e Funch ary
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5. If f(x) =4x + 1 and g(x) = 3x for each of the following, find
the function /4(x) and state any restrictions to the domain.

a f+g h(X>:7C(X>+8(X>

h() = Yxa| ¥ 3

b f-g hG)=f(O~gx)

h (0= Hx+ 23
[h(x)= K+

h (733 =00 -9(%)

C. fxg
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HOMEWORK

Worksheet - HW 3.6 Functions
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